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1.

Attempt any five questions. All gquestions -

carry equal marks.
B8} ot weeT 3 IR Aol |l 5l & 3P
THHE T

(a) Define matrix and discuss the

characteristics of Matrix.
g @ URWING HISTE T SHgE )

fFPwae Farsd|
(1) P.T.O.
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21 12
(b) If X+Y=|1 21, 2X—V=|21 value of
x?
21 12
a%)(‘f‘y:[lz,ZX—Y:[z 1|?~h‘x$r
I FaEd|

2.  What is Linear Programming? Solve a linear

programming problem by graphic Method.
& ST @ &2 W& SR g @
BT B TR DT |

3. What is Time Series? Explain various

components of Time Series with example.
I A0 a1 &2 FIeT AN & AT rawEt @
RAT 3eTeR0T Higa Hifste|

4, Find Karl Pearson's correlation coefficient

between age and illiteracy on the basis of

following information.
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FrfeiRaa yeem & amaR o) g e FRewa & g% fore7 angftr faaxor & IawR A x 30 & @

ra Tt o &1 9-wae TPId T Hiia
ST e ST DIioTe |

| Total Po Literac
Age (3TR]) © P- y
ge 3 _ Class Interval Frequency
(in thous.) (in thous.) (@17 3aTe) (TRFER)
ST ER 0-10 >
o o _ 10-20 6
@R | (EERH) 20-30 10
10-20 100 100 30-40 ?
20-30 100 92 40-50 13
30-40 80 73 6. Discuss the utility of interpolation and
40-50 50 45 extrapotation to a business. What arc the
50-60 27 24 different method known to you tor interpolation.
60-70 15 12 ) e & for aavE @ SR B
4
70-80 > g & YT D] TR B B2
5 If the mean of following frequency distribution 1 R Afadt smaar sa 2
< 30. find the missing frequency 7. The following table gives a distribution of
1S 5U, TIn .
Wages:
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For anferast Wil & Rrawor @ war &
Wages (%) No. of Workers \
120-140 9
140-160 118 \
160-180 478
180-200 200
200-220 142
220-240 35 \
240-260 18

What is the probability of a worker's wages are:

a7 witirsen & 5 ue Woiey O Ao 2Rl

Under 2 160 (¥ 160 I &)

(1)

(i) Above Z 200 (% 200 ¥ 3fEH)

(iii) Between ¥ 160-200 (% 160 ¥ 200 & HEZ)

(a) What do you mean by association of
attributes? How is it different from
correlation?
TOT-IRE QT T THAS 8° TE e
g A 5 yoR e 80
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(b)

Population of an Indian State is 33
lakhs. Male literates are 66 lakhs and
male criminal are 0.33 lakhs. If literates
male criminal arc 0.06 lakhs, Find the
association attributes between Iilcrarcy
and criminal tendency.

wRa @ fel) I & FHEST 331 @Ry
2l WeR yHE & W= 66 drg 2 3Rk
ey 3ORIYAT & =T 0.33 &g &) af
HIaR J&Y 3ARIEAT &Y T 0.06 &9 &
ar |eRdn 3R RIS yaf F o1 Ty
sid el

9. Assuming ycar 2010 as basc year. Find price

Indce

data.

(1)

(1i)

x ol 2018 in following method with given

Laspear
TR

Pasche

qry
(111) Bowlcy

3
(iv) Fisher

foserx
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Commodity 2010 2018

Price | Quantity | Price ‘Qmmiq \
A 20 8 40 6
B 50 10 60 5
C 40 15 50 15
D 20 20 20 |. 25

10.  Write short notes on any two of the following:
(a) India's census 2011
(b) Central Statistical Organisation (C.5.0.)
(¢) Correlanon Coctlicient
(d) Subject Matter of statistics
St § ¥ 58 @ | g fratordl
fafRae:
(3F) WRA B ad 2011 B FAMOH
(@ T AP JSH
(|) WE-TEE oS
(@) wiferdr & fawa-wm
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